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(a) A student suffering from myopia is not able to see distinctly the
objects placed beyond 5 m. List two possible reasons due to which
this defect of vision may have arisen. With the help of ray
diagrams, explain
(1) why the student is unable to see distinctly the objects placed

beyond 5 m from his eyes.

(i1)  the type of the corrective lens used to restore proper vision
and how this defect is corrected by the use of this lens.

(b)  If, in this case, the numerical value of the focal length of the
corrective lens is 5 m, find the power of the lens as per the new
Cartesian sign convention.

23. fr=fafgd Jeor aiferer w1 fovetwor <hifsw, ed oo ofw & feafa o
foragll () % @iy gldferaght (v) 1 foeror gefen w2, i fomn =g

gfteharq fepu & FrefiRaa sl & 3T @
- ol e

e u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 - 40 + 40
4 -30 + 60
5 - 25 + 100
6 -15 + 120

(a) I E I BT g FAT 2 ? 319 I hl I o fog Hror S |

(b) 39 Jerr Y e T fafan i wdt 7E 7 | ¥ fashd oA foRw smem
7 foehren 2 2

(c) Tl 3f@ TuM &1 g A T 2 % dau & fou TR emw
wifew | Aada &1 @ 7 oft 3 Hife |
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General Instructions :

(1)
(i1)
(iii)
(iv)
(v)
(vi)

(vii)
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The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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Analyse the following observation table showing variation of

image-distance (v) with object-distance (u) in case of a convex lens and

answer the questions that follow without doing any calculations :

(a)

(b)

(c)

(a)

(b)

(a)

(b)

S No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 100 + 25

2 - 60 + 30

3 - 40 + 40

4 -30 + 60

5 - 25 + 100

6 -15 + 120

What is the focal length of the convex lens ? Give reason to justify
your answer.

Write the serial number of the observation which is not correct. On
what basis have you arrived at this conclusion ?

Select an appropriate scale and draw a ray diagram for the
observation at S.No.2. Also find the approximate value of
magnification.

Ifg fopet gdur gra 3meh | oo forar &t fopeft oft fearfa & forw wem
& Bier, Her it et wfdfera smar 2, @t 39 gdur it whfa fafaw
I 9 I A g & for fomwr s off fifae | 5@ R % eduit
H1 Th I9F fafgu qon st 39 w= R S 8, SEe 3g@
HIT |

el guell <t sshar e & it fafew | fedt e gho
SR TR ®iehd gl HTq hifT, FEeh! a3hdl ST + 24 cm @ |

If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state
the type of the mirror and also draw a ray diagram to justify your
answer. Write one use such mirrors are put to and why.

Define the radius of curvature of spherical mirrors. Find the
nature and focal length of a spherical mirror whose radius of
curvature is + 24 cm.

9 P.T.O.
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foreht BT ! IWH! TANTISAT H TN A o fTT R I =M1eT AN 3H-q1H
% & H IUCTeH T8l B | TANTTS H $S AU 8, S A A § e T/ 3Y
FER T I T B | T F Frefned w6 @ ar e 9hn S T
AU I AT A H St I T IH H3X T ST ¢ |

(A)  Hifeam FdAEe, defEm FNEs

(B) dHifeam Tcthe, TIREM Tcthe

(C) Hifsad Hethe, hicHan Tothe

(D) hicHIA Tohe, hicHIH FANES

A student requires hard water for an experiment in his laboratory which
is not available in the neighbouring area. In the laboratory there are
some salts, which when dissolved in distilled water can convert it into

hard water. Select from the following groups of salts, a group, each salt of
which when dissolved in distilled water will make it hard.

(A)  Sodium chloride, Potassium chloride
(B)  Sodium sulphate, Potassium sulphate
(C)  Sodium sulphate, Calcium sulphate
(D) Calcium sulphate, Calcium chloride

feaorast s & o1 < fafv wWl 1 989 F1 =W B 6 e gewem
3Rl his fgsfioreed! sfie =nfey | Fr=fafaa w4 @ fgsioesh s g .

5, =T, Herehl, HeX, S, HThed!
(A) T, T 3R AKX
(B) =T, HeX 3 HiTohedt
(C) Tk, AT 3T St
(D) =T, HeehT A HITohed!

To perform an experiment to identify the different parts of an embryo of a
dicot seed, first of all you require a dicot seed. Select dicot seeds from the
following group :

Wheat, Gram, Maize, Pea, Barley, Ground-nut

(A) Wheat, Gram and Pea

(B) Gram, Pea and Ground-nut
(C) Maize, Pea and Barley

(D)  Gram, Maize and Ground-nut

14
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(viit) Question numbers 19 to 24 in Section A are five-marks questions. These

(ix)

(x)

31/3

are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

" A
SECTION A

38 guerdE gvft W fgdla it gty wgw &1 snfvas g3 fafay e yam
HEE TATE B |

Write the molecular formula of the 2°¢ and 3™ member of the
homologous series where the first member is ethyne.

fopeht whefist & fore fafirean ==t Hewget Bt 2 2

Why is variation important for a species ?
ffaied @ sf@en |, wedt H 20,000 J S 39T 7 | 39 @A H A
&1 fohet STt 3ucrey gRft 2

qe > ‘ﬁ@ > HHd
In the following food chain, 20,000 J of energy was available to the
plants. How much energy would be available to man in this chain ?

Plants —— Sheep —— Man

ﬁéﬁlﬁSOcmW@%wa’Hﬁ 15cm31\3f‘3|'{ﬁ:\91?f% l@ﬁgmaﬁ
wfdfersr &% = sifyason (vepfa, feafqa, snfe) 6 g=h samu |

An object is placed at a distance of 15 cm from a concave lens of focal
length 30 cm. List four characteristics (nature, position, etc.) of the image
formed by the lens.

MY U qATaUIfag § 3R UTehfaes THTeAl o TE § TN ¢ 9Ted § | U
IR ToRameRaTdl 1 FE IR =8 o1 T R Thd @ |
You being an environmentalist are interested in contributing towards the

conservation of natural resources. List four activities that you can do on
your own.

3 P.T.O.
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HEAA AR YITIH i UTehideh TEEH H FT aifihd fhal ST 8 2 e
faaepyut 3u=mT fobu S &1 T SR foAfeT |

Why are coal and petroleum categorised as natural resources ? Give a
reason as to why they should be used judiciously.

JIh ok U TEEHe HHRT hl TERAT ¥ TEleRU 3R |IEHIS
arfufspastt & g faves A | () wed, M (i) TRt gfsham
T-Th 39 fafaw |

Distinguish between esterification and saponification reactions with the
help of the chemical equations for each. State one use of each (i) esters,
and (ii) saponification process.

TS 1 HCEA-EE fAfae | g @ 99 38 WG H,S0, % e d
443 K T T Topem Srar g 2 AMufshan o1 wwiehtor faiRaw den a9 stfufsean
|ig H,S0, 1 fHehT 1 3g@ T |

Write the structural formula of ethanol. What happens when it is heated
with excess of conc. H,SO, at 443 K ? Write the chemical equation for the
reaction stating the role of conc. H,SO, in this reaction.

MY TMad ARt o HeW H awdi o UIGH] | STEfdal #1 8 ? §HH T
Taft el o Tured T B 8 2 TRt errad # 9T 3 @ @ 3N W W
deal hl ST YT A i TG § FI1 IREdd BT & ? 38 qREdH 1 SR
fetfae |

What is periodicity in properties of elements with reference to the
Modern Periodic Table ? Why do all the elements of the same group have
similar properties ? How does the tendency of elements to gain electrons
change as we move from left to right in a period ? State the reason of this
change.

g ael X R Y, {5k 1] shuie ShES: 20 3R 17 8, % Solaei-e fa=mE
foafen | o X 6 a0 Y & Afufskn gro s Afies 1 snifvaess g7 fafaw | 3@
3cTG <l S H-Tolg TLaHT ST 3R qHI awdi o o= & 3T&-4 hi Tehid
#1 3g@ ot ffw |

Write the electronic configuration of two elements X and Y whose atomic
numbers are 20 and 17 respectively. Write the molecular formula of the
compound formed when element X reacts with element Y. Draw
electron-dot structure of the product and also state the nature of the bond
formed between both the elements.
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Hed 4 I8 fohe YR wose foRan fo6 9% 9wa 3 o6 @I w1 gemga &1 S
g foreft Sfta o =er 9 &1 UTC 2

How did Mendel explain that it is possible that a trait is inherited but not

expressed in an organism ?

Sg-fohrE F1 8 2 38 WIfd % THE & HET S Tehdl | Th IUIHA IGTET hl
gl | SATE HIfT |

What is an organic evolution ? It cannot be equated with progress.
Explain with the help of a suitable example.

S o G JehR oh! F= ST | 39 gF1 H 8 79t Fafd | 3tfee fafyeand e
& U 19 IR § 3 forg 9hRr 2

List the two types of reproduction. Which one of the two is responsible for
bringing in more variations in its progeny and how ?

T Jae @1 § ? 39 fofe & 1 o 3R Q g1 fhae |

What is vegetative propagation ? State two advantages and two

disadvantages of this method.

TR St U &b fore faespfia &1 18 9 aeiel it gt aARe | 39 |
HH-H e Teul & fIw T8 8 2 3 deheTht b1 3TN R wehR TRl aftEw
% TS R TYfg i HY wwifed @ 2

List three techniques that have been developed to prevent pregnancy.
Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a
family ?

“FrE T v wma W@ o w wen faafea gfafsrs off 51 wepar @ ot 3o
faafda wfafers ot 1 wehat 2 |7 39 <1\ il TPfd 1 Ig@ HINT 3R 39w
FHYA I gee o fore fomor @ Eifew | 39 3@ | O, F 31k 2F i fedfaat
ot 3ifera shifSTT |

“A lens can form a magnified erect image as well as magnified inverted
image of an object placed in front of it.” State the nature of this lens and

draw ray diagrams to justify the above statement. Mark the positions of
O, F and 2F in the diagram.

5 P.T.O.
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“gad wehTT ST faEur” T 2 2 YAd YRSl o TUHZH hT YIS ¥+ o oy
iR @ WY | 36 %Rl % fow gl st ®1 geem g 3
Th-gHt o Ae I feufa o T S i ST @ 2

What is “dispersion of white light” ? Draw a labelled diagram to illustrate
the recombination of the spectrum of white light. Why is it essential that
the two prisms used for the purpose should be identical and placed in an
inverted position with respect to each other ?

(a) A U FAd HEUl UThfaeh TETEA &, S Sfted o forw oma 2 |
319 o < fees I8 =med & foh 319 THTcHe: qodreh fohamehaid o
faw, “ammYR UTehfde TS — S I hE FETC O W HIE ASHT
TR | STT ! hH FEIC & 9R § 9 YSIE H JEehdl 3cdd Hid &
foTe 13 §1 39 g9msu |

()  TorEt T 3T 1 AW R 3G e Fifore e g Winea Tl
R = iR @ Qepr <1 T |

(a)  Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring
awareness in your neighbourhood, on ‘how to save water’.

(b) Name and explain any one way by which the underground water
table does not go down further.

T Sl Teh-Ush 3SR goht IUTiotd Aeqvni 37l Tafires @evn & off= fasie
Fhifsre | fopeft =afe grn 1o Trqul Sfigq-sh1at ® IUTRid A&toT/3Tqwa et digt
T IS A A B ? 39 AT HT HRUT IGEWT ol TS HIT |

With the help of one example for each, distinguish between the acquired
traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next

generation ? Explain the reason of this fact with an example.

6
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(a) HMd e S 9 & FEfdiad T an & St & 3g@ FIfNT

(1) USRI
(i) A
(iii) eI Z=d

(b) TG HIE § AT hl HLEHT 3T HMET 1 33T iU | 5

(a)  Write the functions of each of the following parts in a human
female reproductive system :

(1) Ovary
(i1))  Uterus
(i1i) Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

$S JMfiehi i FEGIREA T Hal Il & ? Ueehd, Ueshid 3T Ucehigd ohl

THSITAE AR 1w g7 fafEe qon s AGvft 6 guw g H g o

Eifew | UehH @l Uoohd § uf@fda & <t rfufskan o1 am fafaw sk

TS TR g 38 AR % 8 & fou eravaes uitfeufon =t off

A B

Why are certain compounds called hydrocarbons ? Write the general

formula for homologous series of alkanes, alkenes and alkynes and also

draw the structure of the first member of each series. Write the name of

the reaction that converts alkenes into alkanes and also write a chemical

equation to show the necessary conditions for the reaction to occur.
(a) Tepegfee g © difsd 13 ® 5 m & 1 g W feora foral 1 waee
T8l <@ Ul | 39 G QY % 399 BF o al HWIfad SR I HE
s1ET | foptor SRl it FEEdr ¥ =we s fh
() 98 BF 5 m ¥ A® g W oa fomai =1 we & 17 @
qrdr |

(i) 39 gfee I < TNeH o folu 30 fohE TR & ©F 1 STAN HEAT
e 3T 39 &F & I9FT g0 39 SN 1 GYA fohd Th BIan
2|

(b)  3fe, 39 TH H, TRYH H H Hihd gl Bl TATHS AH 5m 8, A
T w1t fag afErdl & HER 36 <™ S emar [ i | 5

z P.T.O.
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R ILRC]
SECTION B

39 ARG § AYd hivr, Fia i1 3R fomre ivr st spaen: foees g fasfua

M g 2
(A  y,p,z
(Bl x49.%
© py 2z
(D) p,zy

Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the
angle of deviation respectively have been represented by

(A y,p,2
B) x,q,2z
C) py 2z
(D) p,zvy
31/3 10
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HI3 BE A< AEGHIYAS I HI0T (£ 1) o fm 7Hi & e & &
TS ¥ T aTelt Jeher foRT 1 Y TRREd wEar 7 | TR 98 Sfuad Hiv %
Y T o foTU 3T9aaH IV (£ r) 3R T71d HI0T (£ ) & @7 THI I AT

® | 37 IV Y TTdT 1 fIversor ek 38 o fsed fekrern wfEv 2 1
(A) Zi>Zr>Ze

B <Li=ZLessr

(C) ZLi<Z4Lr<Ze

D ~Li=Le<gLr

A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ 1i). He then measures the
corresponding values of the angle of refraction (£ r) and the angle of
emergence (£ e) for every value of the angle of incidence. On analysing
these measurements of angles, his conclusion would be

(A) Zi>Zr>Ze
B) Zi=ZLe>Zr
(C) Zi<Zr<Ze
(D) ZLi=ZLe<Zr

fau M foor st w1 stereE Fife ot frfafaa & @ @d s g . 1
X ¥
<—20 cm R

«—25cm——>
(A) I X 3 U0 7 3R Ik Y Iq9 <l 7, Tkl HiehE gl s
200m33ﬁ'{25cm§|

(B) Ifed X 30« oiF B i IRk Y oraaet gdu B, et wienw ghaf seam:
10 cm 3 25 cm & |

(C) i X faddl oF 8 3R Ik Y I qur &, Seh! ®ishe gt shas:
20 cm 3R 25 cm % |

(D) I X 39 | B i IRk Y raaat gdu B, e wiena ghaf sam:
200m3ﬁ'{25cm§|

11 P:T.Q.
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Study the given ray diagrams and select the correct statement from the
following :

Screen

«—90 em Screen
«—25cm——>

(A) Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.

(B) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.

(C) Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.

(D) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 20 cm and 25 cm respectively.

s BE IqA 8 g Teopel gy foral =1 e fdfers We W I &L @ |
e W e Yfdfers gred o o fo7w 38 e =61 Ragesmn g

(A) WEYE

(B) W I 3

() foret et feufa w St e & Tt T B

(D) 1 Al WG ol AR A T3 § g, g fova o1 fearfq o fyefe e 2

A student obtains a blurred image of a distant object on a screen using a
convex lens. To obtain a distinct image on the screen he should move the
lens

(A) away from the screen

(B) towards the screen

(C) to a position very far away from the screen

(D) either towards or away from the screen depending upon the
position of the object

12
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TR T T AL hid THT 39 o § & a9= A1 § foreh
TEN 999fd 9 § NaOH &1 20% Sieiig faoa fiama 8, o o= J&q0 &=id

g2
(A)
(B)
(©)
(D)

Thrsror <1 1 TEW U B TR R
it # ffeT geseree B W R
et T ST 53 TRA & T 3
feht o1 STEl g5 3T 81 T B

While studying the saponification reaction, what do you observe when
you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A)
(B)
(®)
(D)

The colour of the mixture has become dark brown
A brisk effervescence is taking place in the beaker
The outer surface of the beaker has become hot

The outer surface of the beaker has become cold

S Y Teh WA H HIfSIH qgehTai-e 1 Ul ookt 394 UHifeH o
FS Jc ST &, Al EIREd § § HIFH-81 J&I0 Hid & ?

(A)
(B)
(®)
(D)

When you add a few drops of acetic acid to a test-tube containing sodium

¢ srfufpan T 2t

el 79 aTelt TIEM 19 @ dig gegaree o a1y fomed
s gegaree & A L T I A7 H fa=A

A TR A A & el 1 s

bicarbonate powder, which one of the following is your observation ?

(A)
(B)

(®)
(D)

No reaction takes place

A colourless gas with pungent smell is released with brisk
effervescence

A brown coloured gas is released with brisk effervescence

Formation of bubbles of a colourless and odourless gas

13 P.T.O.
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T IR § ffafed et wi § -
3TE, THTEX, Wefl, ST, TSR, Seh!
T W - g gfeal aHeTTa SLEATeT 1 el e St § 2 1
(A) TSR 3R AT
(B) 3T AR &
(C)  Hell 3R TR
(D)  Hefl 3R SAwhI

The following vegetables are kept in a basket :
Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd

Which two of these vegetables correctly represent the homologous
structures ?

(A) Carrot and Tomato
(B)  Potato and Brinjal
(C) Radish and Carrot
(D) Radish and Bottle-gourd

arfiar § fgmuea 61 afshan 1 (IR =N gRT) AR G Wiwet gisy | 2

Draw in sequence (showing the four stages), the process of binary fission
in Amoeba.

15 B 10 cm HIHH G % 3T 0H B ITAM ek oF § AT 2 m G W
T Amed I ST B W W BIhAd HLAT 7 | $h UG 9§ STl i
- o9 i 3T Rggehrar 8 3 & IR 35k Afdfera &l Wg W Hihiad
A B | 2

(A) & Y SATAT hl Biehi¥d i & fau 39 o &I forg feem 9 Ragemn
BT 8 ?

(B) We W s SoTcAT o Ufdferd o d1se H o1 A=l BT & ?
(C) WS W &4 sarell o Sfdfers it figran (smeh) & = = fe@mg <ar 2 2

(D) & SITEAl " % Fgd IE (T 5 cm @ W) B 7, q We TR
femrs 2 2 2
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A student focuses the image of a candle flame, placed at about 2 m from a
convex lens of focal length 10 cm, on a screen. After that he moves
gradually the flame towards the lens and each time focuses its image on
the screen.

(A) In which direction does he move the lens to focus the flame on the
screen ?

(B) What happens to the size of the image of the flame formed on the
screen ?

(C)  What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D)  What is seen on the screen when the flame is very close (at about
5 cm) to the lens ?

36. WIS H TYH W & U oravas gt (TEEfe uge) @ 3gw
HIe | g Afufsean & srfufseen fasor i yfa (erefia/ada) =i
i st aren wewn 19 fohe TR ST ? H&9 § guH i |
Mention the essential material (chemicals) to prepare soap in the

laboratory. Describe in brief the test of determining the nature
(acidic/alkaline) of the reaction mixture of saponification reaction.
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